RANIGAN]J LIONS J.D.M.C. D.A.V PUBLIC SCHOOL, RANIGAN].W.B.
HOLIDAY HOMEWORK (2023 -24)

CLASS : XI COMMERCE

ENGLISH

Comprehend the passage by answering the questions that follow:

1. It came down to this. India had to soak up 15 minutes of pressure to overcome 40 years of history. Nearly half
a century of struggle, despair, failure and heartbreak at the Olympics. Decade upon layered decade of historical
baggage weighing down every subsequent Indian national hockey team who tried and fell short of the last four
stage of the only tournament that really mattered. Previous generations had their own ghastly rite of passage.

2. Now it was the term of Graham Reid's men. There was 900 seconds to go, as they desperately held off a Great
Britain side that had smelled blood in the quarterfinals. A generous two-goal cushion built up early in the game
through goals in the seventh and sixteenth minute, by Dilpreet Singh and Gurjant Singh, had been whittle down
to one in the dying seconds of the third quarter. Now the team in red chugged down their energy drinks confident
the momentum had swung decisively their way.

3. It certainly looked they had. Within a minute, Great Britain had earned another penalty corner, their eighth of
the match. The last time they had one, they had scored. Sreejesh dived desperately to his right to make the save.
The clocked ticked down to the final whistle and it seemed impossible that the Indians would hold on. Mistakes
crept in. Even captain Manpreet Singh had a brain freeze, as he flew off his feet in making an interception and
only earned a yellow card. India were now down to 10 men. A minute later Sreejesh was on the ground, with
cramps. There was no other keeper in the squad, he would have to continue.

4. If this was a boxing match, India were on the ropes, their gloves in front of their face, with Great Britain
whaling away at them. Eventually you thought, something would get through. The pressure was just too much
for the bus to stay parked much longer. "So many thoughts go through your head then. It's has happened so often
before. It's happened to us in 2000 (when the Indian team missed out on a place in the last four after conceding
a goal in the last 30 seconds against Poland). It's happened to this team too in the last Asian Games," says former
player Jugraj Singh. But while this Indian team bent, it didn't break. With three minutes to go, a break in the
game, via Neelkanth to Hardik , then from Hardik’s stick India got the goal.(Source: Talking Tokyo, ESPN.in)
Answer the following MCQs by choosing the correct option:

1. “.... Indian national hockey team who tried and fell short of the last four stage of the only tournament that
really mattered.”

The implication of this statement is —

1. India has been trying hard for years to reach semi-finals of this tournament.

2. India has failed to reach the semis this time also.

3. Success in this tournament can only make India play in other prestigious tournaments.

4. Reaching the next round of this tournament would bring back some lost glory to Indian hockey.

Which of the statement(s) best explain(s) the quoted text?

A) 2

B) 3&2

C) 1&4

D) 4

2. A lead of two goals has been described as ‘generous’ to state that

A) the goals came without putting any great effort

B) the lead was marginal

C) the goals were the result of some fair play by India

D) the opponent didn’t resist hard to stop India from scoring

3. Statement 1: Great Britain could equalize at the last second of the third quarter of the match.

Statement 2: The players of Great Britain drank the energy drink during the break feeling confident of winning.
Statement 3: The momentum of the present situation after equalizing could be felt on the side of the Great Britain
team.

A) Statementlis the reason whereas Statement 2&3 are the results

B) Statement 2 is the reason whereas Statement 1&3 are the results

C) Statementlis the reason whereas Statement 2 is the result

D) Statement 3 is the reason whereas Statement 2&1 are the results
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4. “.... Great Britain side that had smelled blood in the quarterfinals.”

Choose the best and correct combination of words to clarify the meaning of the expression ‘smelled blood’.

1. an opportunity 2. to take advantage 3. to recognize 4. of someone 5. who is in 6. who is not in 7. difficult
situation 8. a dilemma

A) 3-1-2-4-6-7

B) 2-1-3-4-6-8

C) 1-4-3-2-5-8

D) 3-1-2-4-5-7

5. India’s chances to hold on were becoming week in the match because of some unfortunate incidents.

Some of the following expressions prove the above statement true.

1. clock ticked down to the final whistle 2. Manpreet Singh had a brain freeze 3. Great Britain had earned another
penalty corner 4. India were now down to 10 men 5. Sreejesh was on the ground, with cramps

Choose the option that proves that it is a normal part of the game not unfortunate.

A) 1&3

B) 2&5

C) 4&5

D) 1&5

6. “Decade upon layered decade of historical baggage weighing down every subsequent Indian national hockey
team...”

Which of the following does not comply with the statement?

A) fell short of the last four stage

B) generations had their own ghastly rite of passage.

C) India were on the ropes

D) this Indian team bent, it didn't break

7. “If this was a boxing match, India were on the ropes, their gloves in front of their face, with Great Britain
whaling away at them.”

The statement is an example of literary device called-

A) Paradox

B) Hyperbole

C) Parallelism

D) Imagery

8. If the ‘assertion’ statement is “With three minutes to go, a break in the game, via Neelkanth to Hardik , then
from Hardik’s stick India got the goal,” then the statement of ‘reasoning’ is

A) India had to soak up 15 minutes of pressure.

B) Great Britain side had smelled blood in the quarterfinals.

C) The pressure was just too much for the bus to stay parked much longer.

D) Mistakes crept in.

Answer the following questions briefly:

9. Why did the author use the term ‘900 seconds’ instead of 15 minutes?
10. Which expression in paragraph 1 has the same meaning as given-

‘A mark of important transitional periods’

11. Answer the following extract-based questions:

When | went up to University, | was given a room of my own. The common link of friendship was snapped. My
grandmother accepted her seclusion with resignation. She rarely left her spinning-wheel to talk to anyone. From
sunrise to sunset, she sat by her wheel spinning and reciting prayers. Only in the afternoon she relaxed for a
while to feed the sparrows.

(@) The common link of friendship was snapped. My grandmother accepted her seclusion with resignation.
From these sentences, we may infer that

i) The Grandmother was waiting for such an incident.

i) The Grandmother loved to be alone, hence she did not protest.

iii) Though the separation had a kind of suddenness but the Grandmother had the mental strength to remain
unperturbed.

iv) The Grandmother also felt for a separate room for her grandson.
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v) The Grandmother was ready to give up her personal happiness for the sake of her grandson.
Choose the sentence(s) from the above five that justify the inference.
(A) i) & V) (B) iii) & V) (C) ii) & iv) (D) iii)

(b) Which of these quotes does not match the Grandmother’s way of leading life?
A) “You will never find time for anything. If you want time you must make it.”
B) “Take care of the minutes and the hours will take care of themselves.”

C) “Never be so busy as not to think of others.”

D) “Some of us are busy doing things; some of us are busy complaining.”

Answer the following questions in 30-40 words:
12) “And if they thought her aimless, if they thought her a bit mad, let them. It meant they left her alone.”
Elucidate the remark keeping in view the character of the Grandmother in the story “The Portrait of a Lady”.
13) “There is nothing to say at all.

Its silence silences.”
Describe the poet’s mental state as disclosed in these lines.

Answer the following questions in 120-150 words:

14) The poem “A Photograph” has a sense of loss wrapped in futility of life. Justify the statement with reference
to the poem.

15) Though the common links of friendship kept on loosening with time but the bond of love between the
Grandmother and grandson never weakened. Elaborate the statement with reference to the story “The Portrait of
a Lady”

PHYSICAL EDUCATION

Practical - 3

IOA recognized Sport/Game: Badminton or Football (any one)
1. Introduction

2. Labeled diagram of Field/Court

3. Equipments

4. Rules of Game

5. Terminologies

6. Skills

Note:

Use Inter leaf page to write your project.

Paste and Draw relevant picture (Use white sheet or page)
Project should be completely hand written.

Project should have the following:

1. Index

2. Acknowledgement

3. Bibliography

Follow all the instructions given in class related to the project work.

PAINTING

1. Draw a composition of book fair, can use any colour, use 1/4" size art paper.
2. Make a composition on market in 1/4™ size art paper.

3. Make a composition of birds in 1/4" size art paper, and colour as per choice.
4. Draw a Madhuboni painting in 1/4" size art paper.

APPLIED MATHEMATICS
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NOTE :-

PROJECT:
Analysis of career graph of a cricketer (batting average for
a batsman and bowling average for a bowler) for 10 years. Conclude the best year of his career.

e  Draw any type of graph for comparison.

e Use graph sheet and paste each graph sheet on the separate interleaf page.

e Write proper scale and heading on each graph sheet.

PROJECT SHOULD HAVE THE FOLLOWING:-

e Index
e Acknowledgement

e Content of the project

e Conclusion
e Bibliography

ACCOUNTANCY
Activity 1: Identify the items as current assets, current liabilities, non-current assets and non-current
liabilities.
b) Furniture c) Goodwill d) Creditor
e) Debtor f) Bills receivable g) Bills payable h) Bank overdraft
1) Marketable securities | j) Computer software k) Cash/bank ) Investment
m) Patent n) Copyright 0) Loose tools p) Livestock

q) inventory

r) outstanding wages

s) Prepaid salary

Activity 2: Identify the nature of transactions and state whether it should be debited or credited.

1. Purchase of 2. Purchase of 3. Purchase of 4. Purchase of

furniture furniture on goods on goods
credit credit

5. Depreciation 6. Machinery 7. Rent paid 8. Commission
charged on purchased received
furniture

9. Salary paid 10. Debtors 11. Creditors 12. Trade payable

13. Trade 14. Cash/bank 15. Bank overdraft 16. Outstanding
receivables rent

17. Prepaid 18. Interest on 19. Machinery sold 20. Proprietor’s
insurance capital Account

21. Withdrew cash 22. Withdraw 23. Wages paid 24. Discount
from office for goods for received
personal use personal use

25. Discount 26. Received 27. Advertisement 28. Land building
allowed Interest expenses paid purchased

29. Cash received 30. Travelling 3L 32.
from debtor expenses
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Solve the Following problems:-

QL. Prove that the Accounting Equation is satisfied in all the following transactions of Sameer Goel:
(1) Started business with cash X 10,000.

(1) Paid rent in advance X 300.

(111) Purchased goods for cash X 5,000 and credit X 2,000.

(iv) Sold goods for cash X 8,000 costing X 4,000.

(v) Paid salary ¥ 450 and salary outstanding being X 100.

(vi) Bought motorcycle for personal use X 3,000.

Q2. A commenced his cloth business on 1st April, 2018 with a capital of ¥ 30,000. On 31st March
2019, his assets were worth X 50,000 and liabilities of T 10,000. Find out his closing capital and
profits earned during the year.

Q3. (a) A had a capital of X 75,000 on Ist April, 2018. He had also goods amounting to X 15,000
which he had purchased on credit and the payment had not been made. Find out the value of the total
assets of the business.

(b) After a period of one month, he came to know that he had suffered a loss of X 1,700. He withdrew
% 800 for his personal use. Find out his capital and assets of the business.

BUSINESS STUDIES

Activity 1: Prepare a report on development of trade and commerce between 1st and 17th AD.
Activity 2: Field Visit

Visit to a Whole sale market (vegetables, fruits, flowers, grains, garments, etc.)

The students are required to observe the following:

a) Sources of merchandise.

b) Local market practices.

c¢) Any linked up businesses like transporters, packagers, money lenders, agents, etc.
d) Nature of the goods dealt in.

e) Types of buyers and sellers.

f) Mode of the goods dispersed, minimum quantity sold, types of packaging employed. g) Factors determining
the price fluctuations.

h) Seasonal factors (if any) affecting the business.

i) Weekly/ monthly non-working days.

J) Strikes, if any- causes thereof.

k) Mode of payments.

I) Wastage and disposal of dead stock.

m) Nature of price fluctuations, reason thereof.

n) Warehousing facilities available\availed.

0) Any other aspect.
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ECONOMICS

A) Statistics for Economics
Read the following Case Study carefully and answer the questions on the basis of the same:
Census of India is a decennial publication of the Government of India. It is published by Registrar General and
Census Commissioner, Under Ministry of Home Affairs, Government of India. It is a very comprehensive source
of secondary data. It relates to population size and various aspects of demographic changes in India. Under the
Ministry of Home Affairs, Government of India. It may be of historical interest that though the population census
of India is a major administrative function; the Census Organization was set up on an ad-hoc basis for each
Census till the 1951 Census. The Census Act was enacted in 1948 to provide for the scheme of conducting
population census with duties and responsibilities of census officers. The Government of India decided in May
1949 to initiate steps for developing systematic collection of statistics on the size of the population, its growth,
etc., and established an organization in the Ministry of Home Affairs under Registrar General and ex-Officio
Census Commissioner, India.
I. Data originally collected in the process of investigation are known as __ (Primary data/ Secondary data).
I1. The problem of double conclusion arises in ____ (indirect oral investigation/ direct personal interview).
I11. Post-independence, the first census of India was conducted in __ (1949/1951)
IV. Census of India is carried outonce in ____ years. (10/ 5)

B) MICROECONOMICS
I. Massive unemployment will shift the PPF to the left. Defend or refute.
I1. What is the opportunity cost of an input which has no alternative use?
Project Report
I11. Prepare a short project report on Census Survey and Sample Survey.

ENTREPRENEURSHIP

Project Work — Conduct a case study of any entrepreneurial venture in your nearby area.
Note:

Use Interleaf page to write your project

Paste and draw relevant picture (Use White sheet or page)
Project should be completely handwritten.

Project should have the following:

1. Index

2. Acknowledgement

3. Introduction to the topic

3. Content of the project

5. Conclusion

6. Bibliography

INFORMATICS PRACTICES

Write the programs along with the output in the practical copy only. (INDEX must be
written)

1. Write a program to display ASCII code of a character and vice versa.

2. Write a program that takes a number and checks whether the given number is odd or even.

3. Write a program that receives two number and return the result of all the arithmetic operations(+,-,*,/,%) .

4. Write a program to enter a number and check if the number is positive, negative or zero using if-elif
structure.

5. Write a python code to input total marks in 5 subjects. Find the percentage and print “Grade A “and

“Excellent” in two separate line if the percentage is greater than 90.
6. Write a program using nested if —else construct to check a number is positive, negative or zero.
7. Write a program to Find the Sum of Digits in a Number
8. Write a program to print the Fibonacci series first N terms. 0,1,1,2,3,5,8,13.......
9. Write a program to check if a Number is a Palindrome or not.

10.  Write a program that uses a nested for loop to find the prime numbers from 2 to 20.
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